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English Version

Answer any ten of the following:

a)
b)
c)
d)
e)
f)
9)

h)
i)
)
K)

What is velocity of money?

What is demand-pull inflation?

What is Cash Reserve Ratio?

What do you mean by effective demand?
What is a multiplier?

What is an inflationary gap?

What will be the value of the investment multiplier if the value of marginal propensity to
consume is 0.25?

Calculate the equilibrium National Income, where, Y = C+l, C = 100+0.5 Y and | = 50.
Why is a Central bank called "Lender of the Last resort™?

Define National Income.

What is high-powered money?

What is seasonal unemployment?

What is Say's Law?

Name two credit-control measures of the Central Bank.

Distinguish between GNP and NNP.

Answer any three of the following:

a)
b)

c)
d)

e)

Explain the circular flow of income and expenditure.

Suppose C = 60 + 0.6 Y, what will be the value of the multiplier? What are the leakages in
the multiplier process?

How do commercial banks create credit?
What are the major functions of commercial banks?
Briefly explain the Keynesian Theory of employment.

Answer any four of the following:

a)
b)

c)
d)
e)
f)

9)

What are the causes of inflation? How can inflation affect the level of economic activities?
What are the main functions of a central bank?

Define consumption function. Discuss the main features of Keynesian consumption
function. What are the major determinants of consumption?

Explain diagrammatically the process of determination of equilibrium level of output in a
Simple Keynesian model.

Discuss any two methods of measuring National Income. State the problems related with
these measurement methods.

Explain how employment, output and rate of interest are determined in the classical
model.

Explain the Quantity theory of money while mentioning its assumptions.
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